PLASTIC PARTS for PCB

CONNECTOR / TERMINAL BLOCK / WIRE CLAMP
TEST PIN / FUSE HOLDER / P.C.B TERMINAL
GROUND TERMINAL / CLAMP / PLASTIC GEAR

10

info@toptek-co.com www.toptek-co.com




PUSH-IN WIRE CONNECTOR

o MATERIAL:PA 66 (UL) 94V-2
¢ UNIT:mm

NOTE:
(Current):24A(VDE)
Voltage):600V
Working temp):110C°

(Wire Range): #12-22 AWG Solid conductor (Stripping ©
Length): 11mm(0.43inch)
(Color): (UL), (VDE), (Finko), (CE)
— 10.5 — -13.5+ - 17.2 —
45PITCH 4.5PITCH 45PITCH

I 5 —
Q 5 © Q 5 &0 @J s G0
19.7 @2.5AW.G 197 gosawc L 197 g25AWG

PC252 PC253 PC254
P—21.1—
4.5PITCH PARTNO | COLOR |POLES |PACKAGE
I PC252 RED 2
P — PC253 |ORANGE| 3
Q % [COCCY PC254 |YELLOW| 4 500
19.7 025AW.G PC255 | GRAY 5
PC255

CABLE CONNECTOR

+ MATERIAL:NYLON 66
¢ COLOR:GRAY
¢ UNIT:mm

PARTNO | A | B | C |eeCtRi8Wre [volTREERURRENT |sTRIPPESWIRE |PACKAGE

UC-3 [19.6[138 | 97| 3x1.2~2mm(d)
UC-5 |19.3]21.9]10.1| 5x1.2~2mm(d)

380V,27A 10.0~13.0mm 100

info@toptek-co.com 10-1 www.toptek-co.com




QUICK SPLICE

¢ HOUSING MATERIAL:PP

o METAL MATERIAL:COPPER
& FINISH:TIN PLATED

¢ UNIT:mm

QUICK SPLICE

o HOUSING MATERIAL:NYLON 66 UL94V-2

¢ POLE:1~12POLES ®
+ WORKING TEMPERATURE:105C
o PA7DS,PA9DS:WITH WIREPROTECTOR c us

¢ APPROVED:UL. CSA. VDE. F. D. N. S....
o COLOR:NATURAL

!

WIRE PROTECTOR /‘FLAT BASE TYPE

PA7-H —
PA7-DSH 14.5

151175 M2.6X5P|17.0 8.2 29| 2.8
PATF-H "
PA7F-D SH 450V :
PAS-H o
PAODSH | 2524.0 M3.0x6P|20.2 | > " | 10.0| 3.6 | 3.2 1-12
PAOF-H 62
Eﬁg::gs 6.0 [41.0 M3.5X7P|23.8 [ 19.0| 12.0] 3.9 | 4.2

500V

PALA-H M4.0X9P
SAlanDe] 10.0[57.0 o351 256 250 135] 4.4 | 5.0

76.0 |500 V|M4.0X9P | 28.1

info@toptek-co.com 10-2 www.toptek-co.com




TERMINAL BLOCK

o HOUSING MATERIAL:NYLON 66 (UL) 94V-2

o WORKING TEMPERATURE:105°C

¢ COLOR:NATURAL

¢ UNIT:mm ®

A

— M3X7
T
D
—
|
< 917
© : f104 o PALL-2P | 17.3
I l = PAILI3P | 275
I~ [ 1celer] o9
— — (| —
2.8 7.2

TERMINAL BLOCK

+ MATERIAL:PC (UL)
o FLAME CLASS:94V-2/94V-0
+ COLOR:NATURAL

¢ UNIT:mm
?
o
: H
=
|

TERMINAL BLOCK

* MATERIAL:PBT(UL)
o FLAME CLASS:94V-0
¢ COLOR:BLACK

& UNIT:mm

1
HL )

TERBL-33 200

info@toptek-co.com 10-3 www.toptek-co.com




SCREW-ON CONNECTOR

o MATERIAL:PP
¢ COLOR:ORANGE
¢ UNIT:mm
o WITE SPRINGINSRET
SPRING

m

C
B

b\

-

A
WIRE SIZERANGE
PARTNO MAX. MIN. A B C PACKAGE
P1 #18X2 #24X2 15.2| 86| 6.5 1000
P2 #16X3 #20X3 1771 9.9 7.1
P3 #18X3 22.0(12.4| 9.8
P4 #14X3 #16X3 2461140 11.0 500
o MATERIAL:PBT(UL) 94V-0
¢ COLOR:BLACK
¢ UNIT:mm
¢ WITE SPRINGINSRET SPRING m@
j T
O m
A
PARTNO [ A B C SUITABLEWIRES |PACKAGE
AW.G
P1B 15.2 8.6 6.5 22-18 1000
P3B 21.8 | 12.7 9.6 22-14 500

CLOSE END CONNECTOR

¢ HOUSING MAT'L:NYLON 66 (UL)94V-2

o METAL MAT'L:TIN PLATEDALUMINUM/
TIN PLATED COPPER

¢ COLOR:NATURAL

¢ UNIT:mm

2\

PARTNO WIRERANGE A B _C D E PACKAGE
CEL [#22-18 1.25mm| 26 | 7.8[18.0] 74 50
Ce2 [#22:14 2 mm| 31| 95/ 200 57| 1000
CE5 [#22-10 ©55mm| 4.4 |125[255] 8.4 | 7.6
CES | #8 g mm¥ 52 [142]27.7] 85| 9.5 500
®
g b\
Q
T
PARTNO| WIRERANGE | A | B | C | D | E |PACKAGE
c3 #2216 125 mm?| 25 | 7.9|19.2| 7.2 51
C4 |#16-14 2 mmi| 32| 82[207| 85| 57| 1000
C5 [#12-10 55mm| 42106248 10.7] 7.3
c8 48 8 mm 5.0 [12.2]27.1]125] 9.2 500
info@toptek-co.com 10 - www.toptek-co.com




WIRE CLAMP

WIRE CLAMP

WIRE CLAMP

info@toptek-co.com

o MEATLMAT'L:STEEL
« PLACTIC MAT'L:PVC TUBE (UL)
¢ COLOR:BLACK

¢ UNIT:mm
PARTNO A | B[ C [PACKAGE
WL3-32T | 7.5]3.3[32.0
<o WL3-52T | 7.5]3.3|52.0
ss WL3-60T | 80[36]620]
O WL4-35T | 8.5]4.2]35.0
WL4-50T | 8.0] 4.1]52.0
WL4-70T | 7.5| 4.2 745
WL4-78T | 8.0 4.1 785
WL5-70T | 8.4]5.1]60.0 500
WL6-78T | 10.0] 6.0 | 78.0
MEATLMATLSTEEL PARTNO A B C PACKAGE
* 'L:
> WL3-12H | 7.5[3.3[12.0
+ PLACTIC MATLIPOLYOLEFIN(UL) e~ T33 T35 5
WL3-35H | 5.6 3.5 29.9
WL3-52H | 7.5]3.2 [52.0
WL3-60H | 8.0[3.6 [62.0 1000
WL4-35H | 8.5[4.2(35.0
WL4-50H | 8.0]4.1]52.0
WL4-56H | 8.0]4.1][48.2
WL4-70H | 7.5[4.2[745
WL4-78H | 8.0[4.1]785
WL4-90H | 7.5[4.2 [945 500
WL5-70H | 8.4[5.1[60.0
WL6-78H [10.0{6.0[78.0
« METALMATERIAL:STEEL
+ PLASTIC MAT'L:PVC TUBE (UL)
+ COLOR:BLACK
¢ UNIT:mm
: 100
<t L Il
‘i—é‘:,gk w‘I::::::::::::::::::::]‘ PARTNO PACKAGE
PREE J WLC-1 500
« METALMATERIAL:STEEL
« METAL FINISH:TINPLATED
+ PLASTIC MAT'L:POLYOLFEIN (UL)/
PVC TUBE (UL)
+ COLOR:BLACK
¢ UNIT:mm
S 35
N T B 9 2.7+
) . =
H - MOUNTING HOLE
A o
E— )
B ; B
< PARTNO | A B L [PACKAGE
WLD-30H [ 24.0 30.0
Wibcon a7 o] L8 HEAT SHIRNKING (== 1000
WLD-30T | 25.0 30.0
wipsoT [450] H93PVCTUBE 555
10-5 www.toptek-co.com




TEST PIN

& MATERIAL:PBT (UL)
o FLAME CLASS:94V-0
+ FINISH:PHOSPHER BRONZE

GOLD PLATED
¢ UNIT:mm @35
TEST-1(R) | RED
( ) PBT TEST-1(GR) | GREEN

TEST-1(BU) | BLUE

B e ST1(BY) 1BLU 1000

. L TEST-1(BK) | BLACK

QL \ TEST-1(Y) | YELLOW
TEST-L(W) | WHITE

~H-0.35

TEST-1 HOLE IN P.C.B@0.8~@1.0

TEST PIN

o FINISH:PHOSPHER BRONZE

GOLD PLATED
¢ UNIT:mm 727
PBT TEST-3(R) | RED
T J TEST-3(G) | GREEN
- - TEST-3(BU) | BLUE
© TEST-3(BK) | BLACK 1000
L ~L-@0.35 TEST-3(Y) | YELLOW
TEST-3 HOLE IN P.CB@0.8~@1.0 | TEST-3(W) | WHITE
@2.7
PBT
I o
VAN |
L0
L TEST-3S | BLACK 500
’u‘®0.35

TEST-3S HOLE IN P.C.B@0.8~@1.0

TEST PIN

* MATERIAL:PBT (UL)
o FLAME CLASS:94V-0
o FINISH:PHOSPHER BRONZE

¢ UNIT:mm
32.6 TEST-7(R) RED

(
- TEST-7(G) | GREEN
TEST-7(LG) | LIGHT GREEN
_ ﬁi TEST-7(BU) | BLUE 1000
o TEST-7(BK) | BLACK
(
(

B TEST-7(Y) | YELLOW
Logse TEST-7(W) | WHITE

TEST-7 HOLE IN P.C.B @0.8~@1.0

o MATERIAL:CERAMIC
o FINISH:PHOSPHER BRONZE
GOLD PLATED

¢ UNIT:mm
@2.6
%\ @;CERAMIC
A1
= |-
it 4
O:i M TEST-7CN 1000
~-0.35

TEST-3S HOLE IN P.C.B ©0.8~@1.0

info@toptek-co.com 10-6 www.toptek-co.com




TESTPIN

o MATERIAL:PBT (UL)
¢ FLAME CLASS:94V-0
o FINISH:PHOSPHER BRONZE

GOLD PLATED
¢ UNIT:mm e———————————————————————
PARTNO ] COLOR |PACKAGE
PBT TEST-55R | RED
p TEST-55GR | GREEN
= TEST-55BU | BLUE 1000
= ! TEST-55(B) | BLACK
L TEST-55Y | YELLOW
TEST-556W | WHITE
o4
TEST-55N HOLE IN P.C.B ©0.9~@1.0
TEST PIN
+ MATERIAL:PBT (UL)
¢ FLAME CLASS:94V-0
¢ FINISH:PHOSPHER BRONZE
TINPLATED
¢ UNIT:mm
@2.7 PARTNO | COLOR |PACKAGE
TEST-87 WHITE
0.35 PBT
@ TEST-87(R) | RED
T q11 TEST-87(GR) | GREEN 1000
o | TEST-87(BU) | BLUE
o TEST-87(B) | BLACK
B TEST-87(Y) | YELLOW
TEST-87A HOLE IN P.C.B@1.5
TEST PIN
& MATERIAL:PBT (UL)
+ FLAME CLASS:94V-0
¢ FINISH:PHOSPHER BRONZE
TIN PLATED
¢ COLOR:WHITE
¢ UNIT:mm
/ @1.95
025 ) /P
i A1
i
S PARTNO [ PACKAGE
| TEST-129 1000

TEST-129A HOLE IN P.C.B @1.0

TEST PIN

o FINISH:PHOSPHER BRONZE

GOLDPLATED
¢ UNIT:mm
N 3"‘%
&)
ot
- PARTNO | PACKAGE
o o TEST-2 1000

MOUNTING HOLES
HOLE IN P.C.B @0.8~@1.0

info@toptek-co.com 10-7 www.toptek-co.com




TEST PIN

o MATERIAL:NICKEL PLATED BRASS
¢ UNIT:mm

— H
HOLE IN P.C.B@2.0 TEST-6 2000

TESTPIN

+ FINISH:PHOSPHER BRONZE
GOLD PLATED
o UNIT:mm

w0 A
PN [PARTNO] A | B [PACKAGE]
EJ:U; TEST-4 | 14.0]11.0| 1000

TEST-5 [10.0{ 7.0 2000

20.95
@2

HOLE IN P.C.B @0.95

TESTPIN

o MATERIAL:GOLD PLATED BRASS

o UNIT:mm
13
12.45
0 o< 9.5
AN AN
SES &E 11+ 3+

L s
J_L 055 TEST-8 2000

HOLE IN P.C.B@1.0

info@toptek-co.com 10-8 www.toptek-co.com




TESTPIN

o MATERIAL:GOLD PLATED BRASS
¢ UNIT:mm

‘ B 0.6 g

0.6
gi |S==T"

I |

S HOLE IN P.CB@1.0

TESTPIN

TEST PIN

TEST PIN

info@toptek-co.com

PARTNO [ A

PACKAGE

TEST-22

7.9

3.5

2.2

1.0

2.5

TEST-34

8.0

3.8

1.6

0.8

1.6

2000

o MATERIAL:GOLD PLATED BRASS

¢ UNIT:mm

5 3.6

0.4+

8.9 o
48 ﬂ S
+ N

I

PARTNO

PACKAGE

TEST-31

2000

o MATERIAL: TIN PLATED BRASS

 UNIT:mm

L 0

—
Q

71.6

1]
1 L gs

7.4

*®
o
Q
‘ ]

HOLE IN P.C.B@0.8~@0.9

PARTNO

PACKAGE

TEST-10

2000

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm

— N
el 5 | \

g

A

HOLE IN P.C.B:@F

PARTNO

PACKAGE

TEST-9

16.0

10.0

3.0

1.0

TEST-23

18.0

10.0

3.0

2.5

1.6

1.7

TEST-136

19.5

16.5

3.0

2.5

1.6

1.7

2000

www.toptek-co.com




TESTPIN

o MATERIAL:GOLD PLATED BRASS

¢ UNIT:mm
uj)—
g - ]
0 ‘ o
S Py 18
17 |TEST-27 | 2000 |

TESTPIN
& MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
ﬁ A o
1 -~ o
I (S
8 o
v TEST-24 | 15.0
HOLE IN P.C.B@0.9 TEST-25 6.0
Test26 | 85| 22
TEST-28 | 10.0
TEST PIN

o MATERIAL:TIN PLATED BRASS

w « UNIT:mn

8.2 o <
R 8s
)
f
| TEST-140 | 1000 |
info@toptek-co.com 10-10

www.toptek-co.com




TESTPIN

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

7

(S
S PARTNO | PACKAGE
A TEST-12 2000

HOLE IN P.C.B@0.8

TESTPIN

o MATERIAL:TIN PLATED COPPER
¢ UNIT:mm

@0

PARTNO | PACKAGE
JUMP-21 1000

18.7 ‘
J

J_Ll.Z

018
TEST HOLDER

o MATERIAL:NYLON 66 (UL)

o MATERIAL FINISH:GOLD PLATEDBRASS
¢ FLAME CLASS:94V-0

o COLOR:NATURAL

o UNIT:mm
~—11.68—
82.9 RECEPTACLE
FITS@2.03 —
PROBE o =
(»' |
|
L1016 &
01.32 1016 o PARTNO | PACKAGE
)f - [ 1] TEST-114 1000
10.1ﬁ b q
RECOMMNDED
MOUNTING HOLE PARTERN
513
2.2
—10.5 —
-
N
n
1
o130 PARTNO | PACKAGE
- TEST-115 1000
RECOMMNDED 1016
MOUNTING HOLE PARTERN '
JUMPER WIRE
o MATERIAL:TIN PLATED COPPER
¢ PLASTIC MATERIAL:POLYOEFIN (UL)
¢ COLOR:BLACK
& UNIT:mm 8
[ ?
(<o)
L
- 10 PARTNO | PACKAGE
22(x2) JUMP-10 1000

info@toptek-co.com 10-11 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
-8~ -~ THREAD: T {J;S % PLI

1 o i

T N

) @“@*J

15 L 0.8

8 MOUNTING HOLES

PARTNO T PACKAGE
PCB-1 M3X0.5P

PCB-1(M4) | M4X0.7P | 1000
PCB-1(6-32) | 6-32UNC

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
=75 _g1.8(x4
—01.8(X4)
~ 8.5+ §7<‘}3
0.8+ 4 —¢--

THREAD: T
—11.5— MOUNTING HOLES

Q ooTT\r :\E
L~ | i o o PARTNO T PACKAGE
(G PCB-2 M3X0.5P
J‘ 16 PCB-2(M4) | M4X0.7P 1000
55 PCB-2(6-32) | 6-32UNC

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
ﬁ?% [ B18(x4)
I 80 e
Nr ()17 MexosP b
S 1 MOUNTING HOLES
L[
L.HLM(M) ~9.33— PARTNO | PACKAGE
5 PCB-78 1000
P.C.BTERMINAL
« MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
= 46
= DD
L [Te]
1.4 & 2
M = ool
& | @1.7(X4)
x S/ MOUNTING HOLES
—8.3 — PARTNO T PACKAGE
i T PCB-12 M3X0.5P
e | MM MMee O PCB-12(M4) | M4X0.7P | 1000
- L L 1 PCB-12(632) | 6-32UNC

Al o8

info@toptek-co.com 10-12 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm

*®
S L4 THREAD:T
1
o % .

E @
2.8
OO r
() =2
00 l 56
\ 7
FH]?T”’“’ T
PARTNO 1 B 1 T |PACKAGE B |
PCB-4 3.5 [M3X0.5P 04.2 <
PCB-4(M4) 4 M4X0.7P 1000
PCB-4(632) [ = |6-32UNC
(ASSY) MOUNTING HOLES PART NO PACKAGE
PCB-4(M3)F | PCB-4+PCB-4CV PCB-4CV 1000
PCB-4(M4)F | PCB-4(M4)+PCB-4CV
PCB-4(632)F | PCB-4(632)+PCB-4CV
P.C.B TERMINAL
o MATERIAL:TIN PLATED BRASS
o UNIT:mm
F14 3 7.2
ul—r—n—n—n—n—n:—‘ & JéLI
[ TmrJ
T2 g7xa) 5.6
K.Y H ﬁ . . © E\ \ﬁ
b= D —¢ s —
| v L lad2
[ MOUNTING HOLES
ag PCB-4CV
PARTNO PACKAGE
PCB-21(4.4) 1000
(ASSY)
PCB-21(4.4)F | PCB-21(4.4)+PCB-4CV

P.C.B TERMINAL

info@toptek-co.com

o MATERIAL:TIN PLATED STEEL

& UNIT:mm

; —- 6.15
o ﬁ S ©
o f
pl
Js&%l.n Alosg

10-13

583
= Q6@1.9(x4)

MOUNTING HOLES

PARTNO PACKAGE

PCB-47ST(440)[ 1000

www.toptek-co.com




P.C.BTERMINAL

P.C.BTERMINAL

P.C.B TERMINAL

info@toptek-co.com

o MATERIAL:BRASS
o FINISH:TIN PLATED

¢ UNIT:mm
S @1.75(X4)
6-32UNC %‘ _
- 5
ﬁS.Sﬂ hll.Sﬂ MOUNTING HOLES
I
L7 PARTNO [ PACKAGE
PCB-70 1000
o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
r 13.3j
~—12.5—+
B ]
) ¥
\ 71.8(X4)
MOUNTING HOLES
PARTNO [ PACKAGE

PCB-15(M4) 1000

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

F—11.1—

T ess s 555  [57
| I S NS T y 1
© 7 1 ol fde ! 2
(G R S RGP =
I O Wl B j
THREAD: T L(31.9(X4) THREAD: T @1.9(X4)
MOUNTING HOLES MOUNTING HOLES
] & N ~
o E E “
|| 1 I
i) -L60xe . 1.6(x4)
PARTNO T PACKAGE PARTNO T PACKAGE
PCB-7 M3X0.5P PCB-8 M3X0.5P
PCB-7(M4) | M4X0.7P 1000 PCB-8(M4) M4X0.7P 1000
PCB-7(632) | 6-32UNC PCB-8(632) | 6-32UNC
10- 14 www.toptek-co.com




P.C.BTERMINAL

P.C.BTERMINAL

P.C.BTERMINAL

info@toptek-co.com

o MATERIAL:TIN PLATED BRASS
—O8 —=f

¢ UNIT:mm
S
4 &6 o
Tl 04 ~
& 5

L4

i i 21.8(X4)

THREAD: T MOUNTING HOLES PARTNO T PACKAGE
: PCB-9 M3X0.5P
PCB-9(M4) | M4X0.7P 1000
« PCB-9(632) |6-32UNC
-
o8
o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
5
F—A— A n 7.5 I~
4 ﬁ} 1 -
R o r r..s
I td b NIg
i @2(X4)
\_TAPPED:T MOUNTING HOLES T
i o
4 | |
T s = M3.5X0.6P
] i “}; FOR PCB-10B FOR 632-8ST
08 1.5(X4)
5 ¢ FOR PCB-10 CAN COOPERATE SCREW USE
FOR PCB-10A PARTNO | A T PACKAGE
PCB-10A(M3) | 8.0 | M3X0.5P
PCB-10A 7.9 [M3.5%0.6P 1000
PCB-10AM4 | 7.9 | M4X0.7P
PCB-10A(632) | 8.0 |6-32 UNC
(ASSY)
PCB-10 PCB-10A+PCB-10B
PCB-10M4F | PCB-10AM4+PCB-10BM4

PCB-10(632)F

PCB-10A(632)+632-85T

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

MOUNTING HOLES

M3X0.5P  -M4X0.7P 6-32UNC
FOR M3-5.85T FOR M4-6ST FOR STP632-6-1
+FOR PCB-11 CAN COOPERATE SCREW USE
PARTNO T PACKAGE
PCB-11 M3
PCB-11(M3.5) M3.5
PCB-11(M4) M4 1000
PCB-11(632) 6-32UNC

(ASSY)

PCB-11M3-5.8F

PCB-11+M3-5.8ST

PCB-11M4-6F

PCB-11(M4)+M4-65T

PCB-11(632)F

PCB-11(632)+STP632-6-1

10-15

www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

1.7(X4)

. . I
L Tiw o]
KY j ééJ
=~ MOUNTING HOLES
‘—H'*O.S

s PARTNO | PACKAGE |
PCB-66 1000

P.C.B TERMINAL

o MATERIAL:BRASS
¢ FINISH:TIN PLATED
¢ UNIT:mm

- og - TS5 @1.8(X4)

N
4
7

N

7

1 \
]

J
IRSE 4%4}?

MOUNTING HOLES

W\

U

0.8+
PARTNO [ PACKAGE PARTNO [ PACKAGE
PCB-71 1000 PCB-75 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

~ 8.6 — 57
O

@1.75(X4)
M3X0.5P MOUNTING HOLES

=N o) PARTNO | PACKAGE
t o PCB-17 1000
0.8~/ ’\’4
. 1.5
iPyeia

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

o UNIT:mm 5
— 11,1 g ‘<1>j
555

.

¢ @D(X4)

_ i
LTAPPED:T MOUNTING HOLES
i

1

4.6l

9.2

O
“L10

<Y |=
| LEHL C(X4)

PARTNO|A|B|[C|D T PACKAGE
PCB-18 |8.9|7.5]1.6 |1.8 |M3X0.5P 1000

info@toptek-co.com 10-16 www.toptek-co.com




P.C.BTERMINAL

o MATERIAL:TIN PLATED BRASS
o SCREW MATERIAL:NICKEL PLATED

¢ UNIT:mm
& 10
=vE? 5] v
6-32X1/4L e
CAPTIVATED SCREW
STP632-6 — 129 °22y
%ﬂ ——  MOUNTING HOLES

o
o ©

[ee]
PCB-20(632)
1.5(X6) %Ofﬂ

PARTNO (ASSY) PACKAGE
PCB-20(632)F [PCB-20(632)+STP632-6 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED COPPER
¢ UNIT:mm
M6X1.0P

./

=] = PARTNO | PACKAGE
Ll <

$L1 J—LZ.S !

P.C.B TERMINAL

o MATERIAL:BRASS
o FINISH:DULL TINPLATED

20

14

« UNIT:mm
011.94 10.41
j f 5.21
| r%y —10-32UNC !
'S
il i @ é J
7 @2.57(X6)
EEE] MOUNTING HOLES
PARTNO | PACKAGE
108 PCB-69 1000
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
i @1.7(X3)
3.91 o .
Ay 4
e 7
0-8%5* M3X0.5P MOUNTING HOLES
j
> 3
j’ ] PARTNO | PACKAGE
2.5

info@toptek-co.com 10-17 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:NICKEL PLATED BRASS

¢ UNIT:mm
5

EN

© ~

Fll.S» g o Cﬁ
i = @1.7(X4)
© L! MOUNTING HOLES

ru

8.3 |—
10.8 % 6.5
||
M! 58 o] PARTNO | PACKAGE
- i PCB-34 1000

sk Aos

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

~11.1+ 5

5.6 %
e
m 1 W<

THREAD:T ~ MOUNTING HOLES

9.2

(@]

N
@1.8(X4)

1

< N

J PART NO A B T PACKAGE
ﬂﬂw@

Los PCB-27(M3) |16.0 [12.0 |M3X0.5P

) |16.0 [12.0 |M4X0.7P
) |18.8 [14.8 |M3X0.5P
) [18.8 [14.8 [M4XO0.7P

PCB-27 M;‘r 1000

(
PCB-28(M
(

PCB-28(M4

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

4.25

Q 11w @D(X4)

f
M4X0.7P MOUNTING HOLES

PARTNO | B | C | D |PACKAGE
PCB-37M4 | 8.0] 5.0|1.7 1000
PCB-58M4 |13.0 {10.0{ 1.9

info@toptek-co.com 10-18 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
—10.3 —

PCB-43(M5)

PARTNO (ASSY) PACKAGE
PCB-43(M5)F | PCB-43(M5)+M5-8ST 500

P.C.B TERMINAL

o MATERIAL:NICKEL PLATED BRASS

-

S MOUNTING HOLES
i THICKNESS 1.6~2.0

J A L PCB-50(M5)

PARTNO (ASSY) PACKAGE
PCB-50M5F | PCB-50(M5)+M5-8PST 500

P.C.B TERMINAL

o MATERIAL:TIN PLATED SPCC

« UNIT:mm
7.35
F % 6.35
‘2 @15 @%n
a (o B
26.35 33—
- M3x0.5P MOUNTING HoLes | _PARTNO [ PACKAGE
HE%J@? ‘ PCB-49(M3) 1000
Jcn
U J‘J
S}

P.C.B TERMINAL

¢ MATERIAL:PHOSPHOR BRONZE
WITH TINPLATED
¢ UNIT:mm

— 22— 15 21 §
M5 i ’ F @
@ @ > 1.1(X2)

MOUNTING HOLES

4

PARTNO [ PACKAGE
PCB-36 500

info@toptek-co.com 10-19 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
2 s
VAl
ORk:
CaO———r 7 l
e HLﬂLH
S
I FATHD (AR
Lok g -
P.C.B TERMINAL
+ MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
~09.2~ - 09.24
460, é—s.?ﬂm's 148, ?1.5
i d/ T dj T &8.7jf
MOUNTING HOLES MOUNTING HOLES
@5 @5
| T ]ld —= f
3 Y ~ J <
|| 1 i !
05 - @1.2(X2) 05 1.2(X2)
PARTNO | PACKAGE PARTNO | PACKAGE
PCB-29 1000 PCB-44 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

L g3 PARTNO | PACKAGE
PCB-25(3.2) 1000

P.C.B TERMINAL

¢ MATERIAL:PHOSPHOR BRONZE
WITH TINPLATED

1
[

I

¢ UNIT:mm

2
6

i

Ti
12.1

-

—11.2

5.67«1
&

=
o

PARTNO | PACKAGE
PCB-23(M5) 1000

53

146

[ = m—

info@toptek-co.com 10-20 www.toptek-co.com




P.C.BTERMINAL

o MATERIAL:BRASS
o FINISH:NICKEL PLATED

¢ UNIT:mm o
o{ir 11.5 M3X0.5P
. :i' #Ln5

*®
o

mjﬁw
.
L

IL16
5

PARTNO | PACKAGE PARTNO | PACKAGE
PCB-54L(M3)[ 1000 PCB-54R(M3)[ 1000

7

11.2
—

P.C.B TERMINAL

+ MATERIAL:BRASS
¢ FINISH:NICKEL PLATED
¢ UNIT:mm

M3X0.5P ~ ] T
! =
|---

E=3

PARTNO | PACKAGE
PCB-55(M3) 1000

4.1 .
P.C.BTERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm

191 vaxo7p

I
[{=}
1

PARTNO | PACKAGE
PCB-22(M4) 1000

—1.2 2

HOLE IN P.C.B@25

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

1.9:-14.74T2.9 .gﬁ.G*TZ.B

[EEN

rf ¢ M2.5X0.45P - | w2 5r04sp
2 5.8+ ~N
T rE=2h 7 r5-6*‘
~-0.8 dlos
PARTNO | PACKAGE PARTNO | PACKAGE
PCB-73 1000 PCB-74 1000

info@toptek-co.com 10-21 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

& UNIT:mm
—3.96 ~TAB SIZE 3.66
@:g 218 ?1.65
1
- 0 J} MOUNTING HOLES
f"" ; PARTNO | TABSIZE | PACKAGE
L ] PCFS156A | 0.5X2.8 1000
11.57
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
¢ UNIT:mm 5
7.5 1P —g15
7 % rFTAB SIZE ﬁgﬂg—
MOUNTING HOLES
1 THICKNESS 0.45
= p PARTNO |TABSIZE | PACKAGE
J PCFS250L | 0.8X6.35 1000
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
5.9
@FTAB SIZE 55‘1?9/(51.3
[-—TZ.SQ
MOUNTING HOLES
PARTNO | TABSIZE | PACKAGE
1.25 PCFS187 | 0.81X4.8 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
741 gTAB SIZE ~741 _TAB SIZE
%5$/®2.8
o 1] } © < |
= © g MOUNTING HOLES o © o
i THICKNESS 0.4 nd
PARTNO | TABSIZE | PACKAGE PART NO | TABSIZE | PACKAGE
PCFS2505 | 0.5X6.35 1000 PCFS2505A | 0.5X6.35 1000
PCFS2508 | 0.8X6.35 PCFS2508A | 0.8X6.35
P.C.B TERMINAL
+ MATERIAL:SHINY TIN PLATED BRASS
¢ UNIT:mm
5~
@254
688 1ap size Q%GE[
MOUNTING HOLES
I .
~a 3
R A PARTNO | TABSIZE | PACKAGE
[ PCFS2509A 0.6X6 1000

info@toptek-co.com

10-22

J_l.ljs

www.toptek-co.com




P.C.B TERMINAL

P.C.B TERMINAL

o MATERIAL:PLATED NICKELBRASS/
PLA

P.C.B TERMINAL

P.C.B TERMINAL

P.C.B TERMINAL

info@toptek-co.com

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

2.8 . 05
(211T J‘—f T

HOLE IN P.C.B@1.7

¢ UNIT:mm

@1.4

_1

3

R

[Tl

6-!
.

7.2

| PC110 | 2000 |

TED TINBRASS

*ﬂfO.S

25 g1ax2)
o

MOUNTING HOLES

PC110-1 [131
PC110-4 (121 2000
25
o MATERIAL:TIN PLATED BRASS
o UNIT:mm
2.8 I
w BT e
©-
j MOUNTING HOLES
g i
I H PC110D5 |1.0]0.5][1.4
< || * PCI10D5-1[1.3[05(1.3| 2000
1.15(X2) PC110D8 [0.8[0.8[15
o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
g1.4 4_] "777 @77%
MOUNTING HOLES
ﬁ o
©
= 9 PC187 05| 1.4
- pcis7(08) Jo8 15] 2%
o MATERIAL:TIN PLATED BRASS
o UNIT:mm
5 @1.5(X2)
452 408 Y
1.8 J_h b
' MOUNTING HOLES
©
aq
; | PC205 | 1000 |
R
10-23 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

6.35 0.8
21.7 Lﬁ 5
J[;l[@l.s(xz)

MOUNTING HOLES
L 8.2

L L8
16.1

PARTNO [ PACKAGE
PC250 1000

%F

P.C.B TERMINAL

o MATERIAL:NICKEL PLATED BRASS
¢ UNIT:mm

6.35 0.81
o178 i 5.08 -~ g1 5(x2)
- H MOUNTING HOLES

PARTNO | PACKAGE
PC250-4 1000

19.05

!
e »3.81kL Lus2
N
25.17
N

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

o UNIT:mm
@1.78 76357 -~ 0.81
h \ o <\T' i 5.08 ?1.3(X2)
< o L . .
R R % <J>T

[ i 3 MOUNTING HOLES
127 ' PARTNO | PACKAGE
L 7.92 PC250-8 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
P18 _ .,
6.4 o8
; . |
o N | < PL3(X2)
~ ij j t
t[ ] 5.1
o~ 1. MOUNTING HOLES
™ ; ™
|

8

L[ K.Y U
[ | PARTNO | PACKAGE
1.27 L 2 PC250-11 1000

info@toptek-co.com 10-24 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm T- 0.8
| N
I MOUNTING HOLES
I | PCRL250 | 1000 |
P.C.B TERMINAL
& MATERIAL:TIN PLATED BRASS
o UNIT:mm
33—
e =5 71.5
o~ »H*I O
MOUNTING HOLES
o, o
@
o PCF110 [ 0.5
PCF1108 | 0.8 1000
P.C.B TERMINAL
o MATERIAL:TIN PLATED BRASS
o UNIT:mm
13.4 —
3.3 — @14 | 5/ 9L5
| T

MOUNTING HOLES

PCF187(5) | 0.5

PCFis7 |o0s] 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
r5l> @1.5
16 —~ 4 - /

@2 WO-B
f MOUNTING HOLES

8 [ \
© —
— % [PAR T Packace |
™
PCF250 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
— 5 =
20— U oL
21.7 0.8 A
A 7 ; MOUNTING HOLES
@ [
© x o~
LW | | PCFL250 | 1000 |

info@toptek-co.com 10-25 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
100 |
=15+ —5 ~_@15
3 s 323 08 +
e iy H MOUNTING HOLES
S
1.3’u‘7 $<L 5p|TCH L—_L7.95PITCH
13.28 PART NO | PACKAGE
PCF250-7 500
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
o UNIT:mm
-6.35~
1.7 T [ 5
w 571 @B(X2)
< |l g o
oA J% \ MOUNTING HOLES
L 125
5~ PARTNO | A B | PACKAGE
8.5 PCH250 15
Eﬂgjm PCH250-1 | 1.1 | 1.4 1000
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
o UNIT:mm
6.35 —
@1.7 jj—\j
(0] ~ 4 —
R il
- 4 ;E
i { MOUNTING HOLE
2.9

PARTNO [ PACKAGE

Zﬁigﬂtﬁ% PCK250 1000
P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

5 @1.4(X2)
& — @f
MOUNTING HOLES

PARTNO | I | PACKAGE
PCR187 05
PCRI87(0.8) | 08 | 000

info@toptek-co.com 10 - 26 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
6.35 ~i-038 =5+ @15
@15 1 S
j’ - MOUNTING HOLES
i —
L <~ PARTNO | PACKAGE
5ﬂ ' PCR250 1000
P.C.B TERMINAL
« MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
10.5 =
0.8
. * ’Hﬁ r——5+‘ @15
o - oy
o MOUNTING HOLES
B
11 =

PARTNO | PACKAGE
PCR250-S 1000

i

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
7.92 oo

7 - ~i 0.8 ~—+— 5.08
?1.4 ? i q}ﬁi

2 oo L5

cxit % = MOUNTING HOLES

PARTNO | PACKAGE
L1271 PCRSI87A | 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
5.2 0.8
?1.8 0 j—ﬁ T 5] LS
3 S
e MOUNTING HOLES
> PARTNO | PACKAGE
f PCRS205 1000
info@toptek-co.com 10- 27 www.toptek-co.com




P.C.B TERMINAL

¢ MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

m_gj 6.35 Eﬁ 0.8
T
Ls.sjg”;-L 7

54 @15
'y

MOUNTING HOLES

PARTNO | PACKAGE
PCRS250 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

oo

oo

T
-~
©

0.8 ~6.4- 0.8
o156 il 21.8— [ n
' o ™o || o i
_p <v|| ]z
— [ i VAN
< | P | i
1.25 12 T
f5 7 5.1 1.3
& 4 OL5 l%gﬁ .
MOUNTING HOLES MOUNTING HOLES
PARTNO | PACKAGE PARTNO [ PACKAGE
PCRS250-1 1000 PCRS250-2 1000
P.C.B TERMINAL
o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
— 8
. 0.8
o171 T gEia
flo s MOUNTING HOLE
e [KYle
L 00
1z th
4.75 ©
112 ) 3.4 PARTNO | PACKAGE
PCRN250 1000
info@toptek-co.com 10-28 www.toptek-co.com




P.C.B TERMINAL

+ MATERIAL:SUS
¢ UNIT:mm

i, %
26.6 o |
YaMLE
o5

| PCTL-2 | 1000 |

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

2.0 427
’-

l._5_.

A

N~

] 4 [P Facioce ]
o s ' PCTL-3.5 1000

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

| PCU250 | 1000 |

MOUNTING HOLES

info@toptek-co.com 10-29 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

« UNIT:mn
8 ]
iy TQ 7 1T >
"% ™ @1.6(X4) i
. A R
— — L 4 »L3+

T

y MOUNTING HOLES
byl

PCLT-10 | 3.0 |10.0

1000

PCLT-11 | 4.0 [11.0

P.C.B TERMINAL

o MATERIAL:BRASS
o FINISH:TINPLATED

« UNIT:mm
‘ [ﬁ 7ﬂ‘ ’ﬂ‘l
HE
|
Ll
10

1.6(X2)
0,7
MOUNTING HOLES
PCLTA-1 1000

P.C.B TERMINAL

o MATERIAL:BRASS
o FINISH:TINPLATED

¢ UNIT:mm
r 5 — 1
Y|
. |
i =
i
4 PCLTA-2 1000
info@toptek-co.com 10-30

www.toptek-co.com




PIN TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

3+
1.2 *H*OB

il

)
—
o
N2
S

6.35

11.3

HOLE IN P.C.B@1.2~@1.3 F PIN-1 | 2000 |

PIN TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

@2.2 r4.2*‘ 1

sl 7

Jz.s N
PIN-2 2000

HOLE IN P.C.B@3.0

PIN TERMINAL
w o MATERIAL:NI PLATED BRASS
« UNIT:mn

J1
LI
1

—_— 5 T 08
J 35<i: ‘

info@toptek-co.com 10- 31 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:BRASS
o FINISH:TIN PLATED

¢ UNIT:mm
28 PCLTM-250—~ ) /| PCLT-250
4 26 I
o121 |2 ] PO |
T LT
eHo | o ES o @
= ﬂ ‘ ‘ |
L 54 8.28+8.28 - 5-
K.Y ‘ —16.55—
E— :} COMBINATION ILLUSTRATION DWG
~H0.9(x3) < MOUNTING HOLES
o
PARTNO | PACKAGE
PCLTM-250 1000
8 0.8
25
oL < PCLT-250
<~_L PCLTM-Z _____ ” lllllllll -
0 T I
< @1.3(X6) ‘
ks Lo 0 5
' RedEan
~0.9(x3) L 518.28+8.28 54
rfﬁ )5 -—16.55—
21.3 12 COMBINATION ILLUSTRATION DWG
e | 1 MOUNTING HOLES
@4
MOUNTING HOLES PARTNO | PACKAGE
PCLT-250 1000
P.C.B TERMINAL
+ MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
~6.35 o8
g1.7 d
= o PARTNO A | PACKAGE
@A a PC11250 4.3
PC1125003 3.2
, PC1125035 | 35| 0%
g I PC1125005 | 5.3
P.C.B TERMINAL
+ MATERIAL:TIN PLATED BRASS
« UNIT:mn
-‘ 6.3 T, TO'B
4 ]
~
@4.3 ~
g PARTNO | PACKAGE
PC12250 1000

4]

ejl.s(xz)tC : 7
i !

info@toptek-co.com 10 - 32 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:BRASS
o FINISH:TIN PLATED

o UNIT:mm
@1.65
L
, . ? I
*jgﬁj Lazss
ﬁ PARTNO | PACKAGE
9 = PC1L250-4 1000
0\4° L @3(X2)
11 13.5—

P.C.B TERMINAL

+ MATERIAL:TIN PLATED BRASS
w + UNIT:mn
L

hll.?——‘ ©
- _l-l-
e
DN 1.6(X2
Gy P PARTNO | PACKAGE
381 PC1L250-7 | 1000

MOUNTING HOLES

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm

Bk

!
N
o

i

iyl

qu\(‘b
™
A, %/‘@\)\% PARTNO | PACKAGE
>x ._ PC2L250 1000
1

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

@5.3

PARTNO | PACKAGE
PC2L25005 1000

TAB SIZE 0.8X6.35

info@toptek-co.com 10-33 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

3.4 DA

7.6
4

i
BDE
T

71
PARTNO | A | PACKAGE

“ Q&‘ PCIV187 | 3.7
o A PC1v18704 [ 43] 1000
:yd‘ PC1V18705 | 5.3
P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
Tre
R0
ead !
> %& PARTNO | A [PACKAGE
SAPN PC1L25005 [ 53] 0%

P.C.B TERMINAL
+ MATERIAL:TIN PLATED BRASS

¢ UNIT:mm

4.8 oS
@1.4 r o N¥ T
:i ﬂ3.4 <
PARTNO | PACKAGE
L 76l a7 ﬁ# PC1L187 1000
7.8

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

o UNIT:mm 0
1 - 5 7@1.5(X2)
71.8 |y H—4/
ﬁ MOUNTING HOLES
LG.SJ
. 10.8
o jﬁ PARTNO | PACKAGE
o & PC1L250-1A 1000
~ i
Alos
info@toptek-co.com 10 - 34 www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS

P.C.B TERMINAL

P.C.B TERMINAL

P.C.B TERMINAL

info@toptek-co.com

¢ UNIT:mm

¢ UNIT:mm

¢ UNIT:mm

¢ UNIT:mm

4.8
Pk@lA 0.5
r PARTNO | PACKAGE
Ju g‘ PC3L18704 1000
JT
o MATERIAL:TIN PLATED BRASS
[ [
| —@2.5
=
LL s
2.8 ~+0.8
lj mT j PARTNO | PACKAGE
1 — o g PC3L110028 1000
[ [ 1
*4.64
o MATERIAL:TIN PLATED BRASS
T — 1-04.3
i€ .l
6.35 0.8
il IR T PARTNO | PACKAGE
= “ﬁVE ji PC3L25004 1000
| g
o MATERIAL:TIN PLATED BRASS
»H‘O.S
L 543 PARTNO | PACKAGE
9 ' PC2L250-90 1000

10-35

www.toptek-co.com




P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

A

i\
871 4

PARTNO | A |PACKAGE
PC3L250-3 | 3.3
PC3L250-4 | 4.3

1000

Y

P.C.B TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

2
0.8 “ ‘E‘fO.QS

@14 2
PARTNO | PACKAGE
i

o5 Jg Eﬂ’m EM-408 1000
GROUND TERMINAL

o MATERIAL:NICKEL PLATED BRONZE
¢ UNIT:mm

~— 12.6 —

~— 8 —-

21.8
i" ? ¥
¥
‘ LS 12.3
24

1.6

— MOUNTING HOLES

PARTNO | PACKAGE

<t
™
IR R o PCB-41A 1000

GROUND TERMINAL

o MATERIAL:NICKEL PLATED BRASS

¢ UNIT:mm
D
10
—>
8}
Q
oA 7B PARTNO| A [ B | C | D |PACKAGE

GND-1 3211655 (143
GND-3A [ 4.1]24(65]155

2000

info@toptek-co.com 10 - 36 www.toptek-co.com




GROUND TERMINAL

o MATERIAL:NICKEL PLATED BRASS

+ UNIT:mm
"PARTNO | A | B | C | D | E | F | PACKAGE]
GND-2 |32 | 21| 64]126]40 [0.25] 0.
GND-3 |43 | 20 | 80[17.7] 46
GND-4 |52 ] 21| 99[19.6] 5.1 |03
GND-5 | 83 | 1.9 [10.0[15.0] 4.0 1000
GND-6 | 9.7 [ 2.0 [13.0]215] 40 |04
B GND-10 |63 [ 2110019951 [, [ 2000
B GND-11_| 9.0 | 2.0 [13.0[30.0] 4.0 1000
S . GND-17 [ 42 [ 16 | 68|129[32 [,
S GND-21 |37 [ 16| 63[126]32 | 2000
o8 GND-41 |32 | 15| 45[126] 3.0 [0.25
oA % GND-42 | 22 [ 15| 45]126[ 30 [0.25

GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

PARTNO | PACKAGE
GND-24 1000

GROUND TERMINAL

o MATERIAL:PHOSPHOR BRONZE
WITH NICKELPLATED
¢ UNIT:mm

1.7 o

8 H
@4.2 @44 N
f 3 g
° I3 T
e d PARTNO | PACKAGE
28 33 - GND-7 1000

HOLE IN P.CB
GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
—10.4
T @4.2
S 149 e j S
L o oy~
\ﬁsj PARTNO | PACKAGE
HOLE IN P.C.B GND-13 1000

info@toptek-co.com 10- 37 www.toptek-co.com




GROUND TERMINAL

o MATERIAL:NICKEL PLATED BRASS
¢ UNIT:mm

28

@42 03 g4.4
g +O-
<
=
|

Hole npce | PARTNO | PACKAGE
GND-14 1000

GROUND TERMINAL

o MATERIAL:PHOSPHOR BRONZE
TINPLATED
o UNIT:mm

o 0
8 1.7ﬂ e
|

@4.2 W—E
15

f:T = mﬂ@u
J n 1.9 PARTNO | PACKAGE
Logl i.jillg HOLE IN P.C.B GND-19A 1000

GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
8 - @5
rtes T
d s T
Nt < o 4.2
LH 1 7 vole npcs | PARTNO | PACKAGE
sl J“ 1.8 GND-12 1000

GROUND TERMINAL

o MATERIAL:BRASS WITH TINPLATED/
NICKELPLATED
¢ UNIT:mm

@4.4

> @42 03 r()f
LS

SR

HOLE IN P.C.B

PARTNO | PACKAGE
GND-8 1000

Llog

info@toptek-co.com 10- 38 www.toptek-co.com




GROUND TERMINAL

o MATERIAL:PHOSPHOR BRONZE
NICKEL PLATED

¢ UNIT:mm

PARTNO | PACKAGE
GND-20 2000

GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm

I
t
o
w
—
YR

Lk
35 kg

HOLE IN P.CB

PARTNO | A | B [PACKAGE
GND-32 [7.9]7.6
GND-51 | 7.6 7.3

1000

GROUND TERMINAL

o MATERIAL:NICKEL PLATED BRASS
¢ UNIT:mm

| ]
el
HOLE INPCB I'PARTNO | PACKAGE
GND-36 1000
GROUND TERMINAL
o MATERIAL:NICKEL PLATED BRASS
¢ UNIT:mm
5 —
G
BN
[P
37~
woLe N pca | PARTNO | PACKAGE
GND-37 1000

info@toptek-co.com 10-39 www.toptek-co.com




GROUND TERMINAL

+ MATERIAL:SPCC
o FINISH:BRIGHT TIN PLATEDBARSS
¢ UNIT:mm

5 PARTNO | PACKAGE
HOLE IN P.C.B GND-96 1000
GROUND TERMINAL
o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm
76 , ~@D
s 5,
o
~
o [
: e
dod
Py 35l HOLE IN P.CB
PARTNO A D | PACKAGE
GND-67 35136
GND-67(4.0) | 4.0 [ 4.1 1000

GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS

¢ UNIT:mm
= g

—_ | q @
=
E}‘i
el
HOLE IN P.C.B

PARTNO| A | B | C | D | E | F | PACKAGE
GND-15]135([46 |51 [40]15 |27
GND-35|45 [ 4651 [45]15 (27
GND-39 [ 45 [ 3.3 [5.15(5.0 [1.6 [ 2.6

K GND-99 | 4.5 [ 3.3]5.15[/5.0 [ 1.6 [ 2.6

GROUND TERMINAL

o MATERIAL:TIN PLATED BRASS

2000

1000

¢ UNIT:mm
a7
?3.5 WOE .
o %::J
27 PARTNO | PACKAGE
T
{ } < HOLE INP.C.B GND-23 2000

1L

info@toptek-co.com 10- 40 www.toptek-co.com




GROUND TERMINAL

o MATERIAL:TIN PLATED SPTE
<+ UNIT:mm

PARTNO | PACKAGE

GND-50 1000
¢ UNIT:mm
E%Q
:L 2 PARTNO | PACKAGE
~ L6 GND-55 1000
HOLE INP.C.B
GROUND TERMINAL
« MATERIAL:NICKEL PLATED BRASS
& UNIT:mm
@7.6— @7.6—
- @3.2 ~~—0.5 | @3.2 0.5
§ o T |
— <
| N
Jas 6 L4
PACKAGE PARTNO | PACKAGE
1000 GND-48 1000

GROUND TERMINAL

o MATERIAL:BRASS
o FINISH:BRIGHT TINPLATED

UNIT:

’ MBTQS'Z TT:'
(\!
]
B

']

Ej S
7
~—8.5— —6—-
\ ~ PARTNO | PACKAGE
4x2) FJ < GND-75 1000
L
—~5.48~

info@toptek-co.com 10- 41 www.toptek-co.com




GROUND TERMINAL

@ MATERIAL:PHOSPHOR BRONZE
NICKEL PLATED

712
76.6 1
i 76.8
3 | — T
JsiL e
HOLE INP.C.B
PARTNO | PACKAGE
GND-52 1000

GROUND TERMINAL

GROUND TERMINAL

info@toptek-co.com

4 MATERIAL:PHOSPHOR BRONZE

TINPLATED
€ UNIT:mm
——@4.5
/_Tﬁ—"
O ) H::j—(\:
43.8r

h12.5—-1

103

PARTNO
GND-44

PACKAGE
1000

¢ MATERIAL:TIN PLATED BRASS

- 5.9 033
@35 @
S
P " 1ls
)} 1.8
Jlgs Has
HOLE INP.C.B
PARTNO | PACKAGE
GND-49 1000

¢ MATERIAL:TIN PLATED SPCC

0 @12
x @17 & | @4.5 - 0.5
s [(OT01s i
S \"02’6/\ ?d,
< [ L]
L1673 4 F13.2
PARTNO | PACKAGE PARTNO | PACKAGE
GND-54 1000 GND-56A 1000
@ MATERIAL:PHOSPHOR BRONZE
@ FINISH:TIN PLATED
@ UNIT:mm o
S 0.5(X2)
6.1 —0.3,, - —~ @4.5
@4.25 5
L J —-13.85
8 2.8 - 77
HOLE IN P.C.B
PARTNO | PACKAGE
GND-74 1000
@ MATERIAL:TIN PLATED BRASS
 UNIT:mm
6.8
( 3.5 03
O T
[Te)
)1,
LO_ —
o7 ' PARTNO | PACKAGE
1] wzoa(xs) GND-34 1000
HOLE INP.C.B
10-42

www.toptek-co.com




TR. CLAMP

PARTNO

PACKAGE

TRMC-23

1000

ﬁﬁmg

)

©

142

PARTNO

PACKAGE

TRMC-35

1000

¢ MATERIAL:SUS301

¢ UNIT:mm

k8.8j

Rlzj

L

0.5
5.5

15

PARTNO

PACKAGE

TRMC-7

1000

~—7.53

k6.397
|
03
3.95

22.4

“2.5

[

L 58 "

11.5

PARTNO

PACKAGE

TRMC-26

1000

m‘-—iilljj

©

.

]

@2.5

|
1
<
o

P

%

T
|

L_l4.2

PARTNO

PACKAGE

TRMC-40

1000

T

PARTNO

PACKAGE

TRMC-20

1000

Tl
Tng}

PARTNO

PACKAGE

TRMC-34

1000

1

7

06

|
¥
=N j
) L{I
15
PARTNO | PACKAGE
TRMC-49 1000

T @15
@2.5 S
@2.4 2.5
b I % ; =
J ) | ~—E
L 12:5 PARTNO ] A] B ] C ] D] E | PACKAGE
TRMC-76 | 80 | 6.1 ] 35| 3.5]13.0
PARTNO | PACKAGE PARTNO | PACKAGE TRMC-77 | 69| 75| 45| 4.0 (11.0| 1000
TRMC-59 1000 TRMC-61 1000 TRMC-78 | 69 | 85| 5.8 | 40 |11.0
info@toptek-co.com 10 - 43 www.toptek-co.com




TR. CLAMP

+ MATERIAL:SUS301
¢ UNIT:mm

~5.15+
:j_ B Axf*m-S o ij,,.>)((212.4 zj .y ‘3/7@2.4
l 3 l 1
20.2
d N i BT @ o
Lox- |0 ol , i
——20 ;! 25+ o
g‘ L12.5 =}
PART NO |PACKAGE PART NO |PACKAGE PART NO |PACKAGE
TRMC-9 1000 TRMC-17 1000 TRMC-30 1000
3.5[‘
f
oct ] © > ’ 00_f @2.2 c,r .
~ ~ N ~ — ja
x i L | M
- 13.4 T =
mﬁ = <r}_7 s © ﬁ Jd o N
~ R 9 r922 ~ 0 ® ~ S P
— ™ << i i
J—L 15 4—11 LL 143& 3 b —143 4Jﬁ:‘ ~f13.7——J
PART NO |PACKAGE PART NO |PACKAGE PART NO |PACKAGE PART NO|PACKAGE
TRMC-1 1000 TRMC-2 1000 TRMC-5 1000 TRMC-6 1000
o MATERIAL:STAINLESS STEEL * MATERIAL:STAINLESS STEEL 6
ks.osﬂ M [l ~
g o ) S =| 2z
S L 91 -
- —9.3 37
12 s T 7ﬂ { @2.4
Q1> ™ S © | 2
: s of” A ERIE |
i - 15 75
PARTNO | PACKAGE PARTNO | A | B | PACKAGE PARTNO | PACKAGE
TRMC-122 1000 TRMC-123 |7.1 |5.3 1000 TRMC-141 1000
TRMC-124 17.2215.35

TRANSISTOR CLIP

o MATERIAL:NYLON 66 (UL)/PBT (UL)
o FLAME CLASS:94V-0
o COLOR:NATURAL

¢ UNIT:mm
o
T AT
o = |PARTNO| A | B | C [ D |PACKAGE
1 J TRCMP-1 [ 7.8 ]13.62[7.3 [5.5 1000
T oy ———
‘7C4’
—A
ool T
,,,,,,, PARTNO [ A| B [ C | D | E |PACKAGE
\ W TRCMP-2 |[8.0 [12.55[7.0 | 5.2 [10.0
w @ | TRCMP-5 (8.0 12.6 [7.5]5.7 |L0.0] 1000
L, ,,,,,,, l TRCMP-6 [ 8.0 [17.25]6.8 | 5.0 [14.7
/0.9

info@toptek-co.com 10 - 44 www.toptek-co.com




CLAMP

TRANSISTOR CLIP

o MATERIAL:PBT (UL)

¢ FLAME CLASS:94V-0

¢ COLOR:NATURAL/BLACK
¢ UNIT:mm

r PARTNO | A |PACKAGE

<

TRCMP-3 | 7.9
J—L i% TRCMP-4 | 8.6 1000
e oa

TR. CLAMP

+ MATERIAL:SUS
¢ UNIT:mm

} PARTNO | PACKAGE
TRMC-135 1000

~—12.81—

o MATERIAL:TIN PLATED BRASS
¢ UNIT:mm 4

0.9 11

15.5

J 3%9 f PARTNO | PACKAGE

TRMC-53 1000
WE
N

CLAMP

o MATERIAL:SK7
o FINISH:COATING-ZI
¢ UNIT:mm

23.3

PARTNO | PACKAGE
TRMC-68 1000

.03
L 1.6

\‘Z

info@toptek-co.com 10- 45 www.toptek-co.com




CLAMP

CLAMP

CLAMP

TR. CLAMP

:SUS301

info@toptek-co.com

o MATERIAL:TIN PLATED SPCC

¢ UNIT:mm

o MATERIAL:TIN PLATED PHOSPHOR BRONZE

¢ UNIT:mm

o MATERIAL:SUS301

¢ UNIT:mm

@2.8\

o
=
o~

]
S
13

+ MATERIAL
¢ UNIT:mm

499
> F,ﬁ
<t
. PARTNO | PACKAGE
w 0 TRMC-10 1000
L
~--0.5 Ll
2.5
PARTNO | PACKAGE
TRMC-11 2000
35 o
‘o
TN
8 N PARTNO | PACKAGE
3 2 TRMC-12 1000
R
2.5
PARTNO | PACKAGE
TRMC-8 1000

10 - 46

www.toptek-co.com




TR. CLAMP

+ MATERIAL:SUS304
¢ UNIT:mm

}

o]

e Tl
f

PARTNO | A |PACKAGE
TRMC-121 (5.0
TRMC-126 [4.72

1000

37.3

TR.SHEET CLAMP

o MATERIAL:SUS304
¢ COLOR:SILVER
¢ UNIT:mm

MOUNTING HOLES

PARTNO | PACKAGE
TO-220ST 1000

POSITIVE AAABATTERY CONTACT

o MATERIAL:SPRING STEEL
o FINISH:NIPLATED
¢ UNIT:mm - 0.38

| /BUTTON

[ee]
S
[ee]
L
J - 11.19
- 3.17
6.34 ~

. PARTNO | PACKAGE
9 PCB-67 1000

e

POSITIVE AAABATTERY CONTACT

o MATERIAL:SPRING STEEL
o FINISH:NIPLATED 9.13

¢ UNIT:mm ~—r 4.06 PS.OSH
S
> 8 L= o
15 i E
] j
1.19 l
—3.17 ; 1.14
wn 6.34 10.56—-
~
o
%:z@: PARTNO | PACKAGE
Dﬂ PCB-68 1000
s
info@toptek-co.com 10 - 47

www.toptek-co.com




POWER TRANSISTOR CLAMP DEPRESSOR

o MATERIAL:ZINC PLATED STEEL

info@toptek-co.com

¢ UNIT:mm
T #ST‘ 3.2 T_*s
8 refll o S ol
£ | L |
26 26
* ﬁ 3 * =
2 7 & ml
1—@% ]j& M3X0.5P
PARTNO | PACKAGE PARTNO | PACKAGE
TRK-1 250 TRK-2 250
POWER TRANSISTOR CLAMP DEPRESSOR
o MATERIAL:STAINLESS-430
¢ UNIT:mm
’—_T3'5 @3.5
< -
e s
o 27.3
~ 1962 PARTNO | PACKAGE
N - TRK-6 1000
1o
POWER TRANSISTOR CLAMP DEPRESSOR
o MATERIAL:STEEL
¢ UNIT:mm
M3X0.5P
= == =]
p32 o
é K.Y ﬁ o K ﬁj
i b
30.7 30.7
PARTNO | PACKAGE PARTNO | PACKAGE
TRK-8 500 TRK-9 500
POWER TRANSISTOR CLAMP DEPRESSOR
o MATERIAL:STEEL
o UNIT:mm
‘F 24.2 W‘
T T -1
k i@i K.Y Jco
o TAPPEDT PARTNO T | PACKAGE
z% 0 TRK-10 M3X0.5P
I TRK-10(M4) | M4X0.8P | 1000
L_Glg_ = TRK-10(632) | 6-32UNC

www.toptek-co.com




POWER TRANSISTOR CLAMP DEPRESSOR

+ MATERIAL:ZINC PLATED SPCC

¢ UNIT:mm
7 -7
7 T7.4j i 7
,,,,,,, e I @
), 1Y M3X0.5P
- \M3XO.5P @
Ky | S N
L __/ ]
) 2
PARTNO | PACKAGE PARTNO | PACKAGE
TRK-11 500 TRK-54 500
POWER TRANSISTOR CLAMP DEPRESSOR
o MATERIAL:ZINC PLATED K5
¢ UNIT:mm
@3.5
’ ol 1 j
| T
== C,i
|
21.52 | PARTNO | PACKAGE
TRK-12 1000

POWER TRANSISTOR CLAMP DEPRESSOR

¢ MATERIAL:SUS o MATERIAL: ZINC PLATED STEEL

OE *DT/*QE

1 | |1

¢ UNIT:mm
m o

1P
0
e Agf

FORTRK-56

PARTNO| A | B | c | D | E [ PACKAGE
TRK-24 |12.33]6.35| 6.0] 2.8 | 3.2
TRK-52 |12.73|6.35| 6.8| 3.2 | 3.4| 2000
TRK-56 |26.0 [15.0 |10.0]| 5.0 | 3.2 | 1000

info@toptek-co.com 10- 49 www.toptek-co.com




POWER TRANSISTOR CLAMP DEPRESSOR

o MATERIAL:SUS301

¢ UNIT:mm
*4.&1: M3X0.5P
S :
(o]
— t
24.8
o 2.9
o [—
) |
r~ ¥
n

= ﬂ/3
F —
| TRK-22 | 1000 |

DEPRESSOR

& MATERIAL:NYLON 66 (UL)94V-2
o METALMATERIAL:SUS

+ COLOR:BLACK

o UNIT:mm

M3X0.5P

97 -
—
|

| TRK-17AF | 1000 |

DEPRESSOR

o MATERIAL:NYLON 66 (UL) 94V-2
o METALMATERIAL:SUS

¢ COLOR:BLACK

¢ UNIT:mm

| TRK-16F | 1000 |

info@toptek-co.com 10-50 www.toptek-co.com




DAMPER GEAR

o GEAR MATERIAL:POM (UL) 94HB
¢ BODY MATERIAL:PC (UL)94V-2
o COLOR:BLACK

o UNIT:mm
PARTNO | PACKAGE
DP023A 500
Mj MODULE 0.8
e PITCH CIRCLE DIAMETER | #10.4
ﬁ%ﬁ \ TEETHNUMBER 13
o Ngao PRESSUREANGLE 20°

PIN TERMINAL

o GEAR MATERIAL:POM (UL)94HB
¢ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

o UNIT:mm
@155
PARTNO | PACKAGE
3 DP016A 500
188 . DPO16A MODULE 0.7
- 21 o PITCH CIRCLE DIAMETER | ©9.1
A~ 1 W~ TEETH NUMBER 13
s O ' PRESSURE ANGLE 200
10 2
@15.5
© PARTNO | PACKAGE
DPO19A 500
18.8
i DPOIOA MODULE | 08
A~ 1 ~ PITCH CIRCLE DIAMETER |210.4
e— = i TEETH NUMBER 13
3 |~ | Lz PRESSURE ANGLE 200

DAMPER GEAR

& GEAR MATERIAL:POM(UL) 94HB
+ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

¢ UNIT:mm
26—
N PARTNO | PACKAGE
DP028A 500
920 < MODULE 1.0
1010 Y 1 PITCH CIRCLE DIAMETER 12120
S : L5 TEETH NUMBER 12
Il = ] PRESSUREANGLE 20°
14 “-15

info@toptek-co.com 10 - 51 www.toptek-co.com




DAMPER GEAR

o GEAR MATERIAL:POM (UL)94HB
+ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

o UNIT:mm
@15
PARTNO | PACKAGE
DP025A 500
:’; — MODULE 0.8
[N 11 I PITCH CIRCLE DIAMETER | @10.4
{ \ % | < TEETHNUMBER 3
j T s PRESSUREANGLE _| 14.5°
CD N
S Q\ 7J
J—Ll.B L—ll—- N_@3.5
15.5 —

o

PARTNO | PACKAGE
o DP026A 500
I 10 S W 01 10
[ \ i joo
T == MODULE o3
- = d Q] PITCH CIRCLE DIAMETER | 28.8
ey EERTERN TEETH NUMBER 1
' Lls.sawn.s PRESSUREANGLE 20°

DAMPER GEAR

o GEAR MATERIAL:POM (UL) 94HB
¢ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

& UNIT:mm
201 @10 PARTNO | PACKAGE
| DP00GA 500
13.8 MODULE 06
- PITCH CIRCLE DIAMETER | 6.6
Fﬁ%q % TEETH NUMBER 11
ox : PRESSUREANGLE | 20
DAMPER GEAR
o GEAR MATERIAL:POM (UL)94HB
+ BODY MATERIAL:ABS (UL)94HB
¢ COLOR:BLACK
o UNIT:mm
¢ M2 I'PARTNO | PACKAGE
DP030A 500
MODULE 0.6
PITCH CIRCLE DIAMETER |@6.0
TEETH NUMBER 10
PRESSUREANGLE __|_20°

info@toptek-co.com 10 - 52 www.toptek-co.com




DAMPER GEAR

DAMPER GEAR

info@toptek-co.com

o GEAR MATERIAL:POM (UL) 94HB
+ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

¢ UNIT:mm
@14.9
@2
25 PARTNO | PACKAGE
[e2]
© DP00SA 500
o MODULE 0.8
- PITCH CIRCLE DIAMETER [@10.4
Bl - TEETHNUMBER 13
%ﬁ% % ~ PRESSUREANGLE 20°
f
. 0149
= PARTNO | PACKAGE
~ DP018A 500
19
24 N MODULE 0.8
- 2 ~oJ  |PITCHCIRCLEDIAMETER | 8.8
%4 ~ TEETH NUMBER 11
; - PRESSURE ANGLE 20°
¢ GEAR MATERIAL:POM (UL)94HB
¢ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK
o UNIT:mm
16 ?@14.9
PARTNO | PACKAGE
< DP007A 500
- MODULE 0.8
T w "< 1 [PITCH CIRCLE DIAMETER [10.4
j"g s TEETH NUMBER 13
7o PRESSURE ANGLE 20°
19.7— Ll3
16 / ?14.9
o PARTNO | PACKAGE
© DPO17A 500
™ MODULE 0.8
o « | [PITCH CIRCLE DIAMETER |28.8
- S TEETH NUMBER 11
© | PRESSURE ANGLE 20°
19.9 L3

10-53

www.toptek-co.com




DAMPER GEAR

+ GEAR MATERIAL:POM(UL) 94HB
+ BODY MATERIAL:ABS (UL) 94HB
¢ COLOR:BLACK

¢ UNIT:mm
~
N
40
DP010A 500
Li 50 4_]4 PITCH CIRCLE DIAMETER [@12.0
TEETH NUMBER 12
PRESSUREANGLE 20°

DAMPER GEAR

¢ GEAR MATERIAL:POM (UL)94HB
¢ BODY MATERIAL:PC (UL)94V-2
¢ COLOR:BLACK

¢ UNIT:mm

PLASTIC GEAR

¢ MATERIAL:POM
o COLOR:BLACK
¢ UNIT:mm

| GRAP-1 | 1000 |

info@toptek-co.com 10 - 54 www.toptek-co.com




MINI JUMP

o HOUSING MATERIAL:PBT
¢ TERMINAL MATERIAL:BRASS
FINISH:GOLD PLATED
¢ UNIT:mm
1

N

BR;gs PLATED GOLD PARTNO | COLOR [PACKAGE|
MINI-1 BLACK

T MINI-L(R) | RED

© MINI-1(Y) | YELLOW | 1000

J MINI-1(G) | GREEN
. MINI-1(BU) | BLUE

MINIT JUMP

o MATERIAL:NYLON 66(UL)
w o FLAME CLASS:94V-2/94V-0
o TERMINAL MATERIAL:BRASS
¢ UNIT:mm
’T—T‘l.ZS
PARTNO | COLOR [PACKAGE
MINI-2(BK) | BLACK
e MINI-2(R) | RED
o Wi MINI-2(Y) | YELLOW | 1000
o MINT-2(G) | GREEN
] MINT-2(BU) | BLUE
5 ~lo5k

info@toptek-co.com 10 - 55 www.toptek-co.com




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17
	Slide Number 18
	Slide Number 19
	Slide Number 20
	10_Connector_55_21_40_.pdf
	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17
	Slide Number 18
	Slide Number 19
	Slide Number 20

	10_Connector_55_41_55_.pdf
	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15




